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QUESTION 1

You have designed the firewall filter shown in the exhibit to limit SSH control traffic to yours SRX Series 

device without affecting other traffic. 

Which two statement are true in this scenario? (Choose two.) 

A. The filter should be applied as an output filter on the loopback interface. 

B. Applying the filter will achieve the desired result. 

C. Applying the filter will not achieve the desired result. 

D. The filter should be applied as an input filter on the loopback interface. 

Correct Answer: CD 

Reference: https://www.juniper.net/documentation//en_US/junos/topics/concept/firewall-filter-ex-series-
evaluationunderstanding.html 

 

QUESTION 2

Exhibit. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. The c-1 TSYS has a reservation for the security flow resource. 

B. The c-1 TSYS can use security flow resources up to the system maximum. 

C. The c-1 TSYS cannot use any security flow resources. 

D. The c-1 TSYS has no reservation for the security flow resource. 
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Correct Answer: CD 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-profile-logical-system.html 

 

QUESTION 3

Click the Exhibit button. 
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You have recently committed the IPS policy shown in the exhibit. When evaluating the expected behavior, 

you notice that you have a session that matches all the rules in your IPS policy. 

In this scenario, which action would be taken? 

A. drop packet 

B. no-action 

C. close-client-and-server 

D. ignore-connection 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-idp-policy-rulesand-
rulebases.html 

 

QUESTION 4

You are asked to set up notifications if one of your collector traffic feeds drops below 100 kbps. 

Which two configuration parameters must be set to accomplish this task? (Choose two.) 

A. Set a traffic SNMP trap on the JATP appliance 

B. Set a logging notification on the JATP appliance 

C. Set a general triggered notification on the JATP appliance 

D. Set a traffic system alert on the JATP appliance 

Correct Answer: BD 

 

QUESTION 5

You must implement an IPsec VPN on an SRX Series device using PKI certificates for authentication. As 

part of the implementation, you are required to ensure that the certificate submission, renewal, and 

retrieval processes are handled automatically from the certificate authority. 

In this scenario, which statement is correct. 

A. You can use CRL to accomplish this behavior. 

B. You can use SCEP to accomplish this behavior. 

C. You can use OCSP to accomplish this behavior. 

D. You can use SPKI to accomplish this behavior. 
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Correct Answer: B 

Certificate Renewal The renewal of certificates is much the same as initial certificate enrollment except you are just
replacing an old certificate (about to expire) on the VPN device with a new certificate. As with the initial certificate
request, only manual renewal is supported. SCEP can be used to re-enroll local certificates automatically before they
expire. Refer to Appendix D for more details. 
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